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I

Elg t¢ 50v BiBAlov t@v *ApBuntik@v 100 Atopévtov mapovoi&letal 1) meplntwolg
v& &vaAuBfj doBelg &képaiog elg &Bpolopa dvo Towv mepimov tetpaydvev (V 9) f elg
&Bpolopa to1&v lowv mepimouv tetpaydvev (V 11). ‘H xpnoiponowoupévn mpdg tolto pé-
Bodog mpooeyyloswg kahelton Und 100 Awophviov mapiodtntog &ywyr. Elg Exkaotov
Qv mpofAnué&tev Toltwv OndpXel meptoplopds kobopllwv ndéte 10 mpdPAnua elvar du-
vatdv va Exn Adowv. Obtw, elg 10 mpdPAnua V 9 & meploplopdg elva :

Ak v& Exn 10 mPéPANua Abowv (v& &vadldetat dnhk. 6 doBelg dxépaiog elg &Bpot-
oux dvo teTpaydvewv) mpénst & dobelg &képaiog, Fotw a, v& uh elval mepittdg &ptBudg
kal 6 2a-41 v& pf) Sianpfitat Omd mpdtov &pduol Tfg popeng 4e—1.

Elc 10 mpdPAnux V 11 6 mepiopiopdg elvau :

A va Exn 10 mEOPANUa Alowv (v& &valletar dnA. 6 dobelg &képaiog elg &Bpot-
opx TPV TeETPaydvev) mpénel & dobelg va u elvat 2 olte v& elvan thig popofig 8k--2.
(Znp. ‘O devtepog meploplopdg elvan pepikly meplmtwolg 1M ouvBrkng, kax®’ Av &olBudg
g uopofig 44 (8k+7) d&v &valvetar el &Opoloua TPV teTpaydvey). ‘Ex Tédv mepto-
ploudv 1dv mpoPAnuétwv tolt@v elvar ¢avepby, Bt & Abpaviog Eyvopils mote
G&pBudg g elvan duvatdy va &vaddetar elg &Bpolopa do fi TpLdv teTpaydvav. "EE Evdel.
Eewv B2 2€ ANV mpoPAnudtv t@V "AplBuntikdv Tov (IV 29 kal 30, kal V 14), oalve-
Tal, 81 & Adpavtog Eyvopllev St MGG dpBudg dvaldetar el &Bpolopa 1ecodpwv
1ETPAYOVOV. "ATédeilly tfig tedevtalag tavtng mpotdoewg émétuxev & Lagrange (V).

‘Ynd to0g dvetépw meploptopols, kab’ odg elvar duvarth) | dvdAuvolg &piBuold elg
&bBpotopa d0o | PGV TETPAYDV@YV, 1) HéBodog <lMapiodtntog &ywyn» (dnA. uéBodog
mpooeyyloswg) edplokel Epapuoynv el Tag mepimtdoelg: v& &vaAudij dobelg &piBuodg
elg &Bpoloua dvo teTpaydvev Katd mpooéyyiowy lowv (V 9), i &Bpoloua 1oV teTpa-
YOVOV katd mpooéyylow lowv (V 11).

"Avagépopev & B0o ouvagfi mapadelypata 100 Alop&vTou :

lov. N& dvahuBfj 6 &piBudg 13 elg &Bpotopa 3o lowv mepimou TeTPpaAydVQV.

AcuBéver 16 fjuov 100 13 kal mpoobéter elg tolto TO 4—:,—. 8mou 6 t mpémel v&

13, 1

2 + — v& elvaw tetphywvog d&piBudg, (1).

mpoodlopLobij, dote & m

1) Demonstration d’ un théoréme d’ arithmetique in Nouveaux Memoires de I’
Academie Royal des sciences de Berlin, année 1770, Berlin 1772, p. 12—133. Oeuvres
de Lagrange, III P. 187—201.
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'Ex tadtng elvan 26t?-1=1etpb&ywvog, Eotw=(145t)?, &€ fig t=10. Kol elvan ¥

2
tfic (1), g + ‘%0 = (%) . "AN\& 800 teTphywva loa, Ekaotov T&V dmolwv va Exn

u)\supdw éxouv &Bpotopax 13 + =, &nep elva)l3.

20 200'

‘O 13=321-22. Mpénet Aowndv 1) mAeupd& 100 &vdg TGV {NTovuévev TETPRYDOVGRY Vi
elvar peyoAutépa 100 2, Eotw KatX A, &mdte dixk va elvar pév 1& dVo Tetpdywva o,
&AA& 160 &Bpolop&rwv Katk mpooéyyiolv loov mpdg tév 13 (dAlyov ueyaAdtepov Tol-

Tou) TpémeL | MAeupX TOD £&vog V& elval%—3—x kal 100 &7\)\00% =2+A. ’Ex

TV OX£oewV TOUTWY AQUB&VOUEY K= 210 Kal A= ;(1)
Kat& tadta 6& elvae

51 \? 9 \? 11?2 1
2 (3)=0-%)+(rz) =5+ 5%
Evialfa 1 d0o {nrodueva tetphywva slvan loa, &AA& 16 &Bpoioud twv slvat
Kat& mpooéyytowy loov mpdg 13. To mpdBAnua BéAel 1& piv dlo 1etpdywva v& elvat

xat& mpooéyylowv loa, 1 8¢ &bBpotoudk twv v elvar &kpipdg loov mpdg 13. Mpdg tolto
EKOpaLeL TaG TMAELPES 1AV {NTOVPEVV TETPAYOVGV ouvapTioel Bondntikol &yvdotov X

kal 1dv edpebelodv BV (3— —29—0-) Kal (2+ %). onote AapPsvet
(3—9x)*+(2+11x)2=13, (2).

(Znu. 'H mopdhewiq 1&v napovopaatd@yv yivetar Sk v& €xn pikpotépoug GplBuols.
To &motéheopa div petaPailetal).

Ek 1 () slvan x= e kal ol mAevpal t@v {ntouvpévev tetpaydvev  elvar

101
257 258 257) 258\?
= xal 5 elvon 8¢ (10] (10] —:;(19
. . 66564
Etvau Aomdv 1& kot mpootyyow loa tetpdywva, 10 W&V imen 10 B o 10001 Ko

10 &Bpolopdk twv elvar =13,

20v. N& &vaAvbij 6 &piBudg 10 elg &Bpowouax to@v Towv katd mpootyyiowy
TETPAYDVGDV.

AapBévet 1?0 +9% =TeTp&ywvog, (3), 8mou 6 t mpémer v& mpoodioploBf. Ex

Tadtg elvan
30t*+1=1etp&ywvog, Eotw =(14-5t)%, &€ fig t=2 kal &k tfig (3) elvan

10, 1 121 _ /11\*
T+w=%=(%)
AN ol teTpdywva {oa, Exaotov 1&v Omolwv v&k Exn mAsupdv lﬁl elvai
121 _ 363 3
3. —3+6—?6-——10 ?6—> 10.

Mpénel Aowmdv v& edpeBolv 1pla 1eTPdywva katd mpooéyylow lox, 1dv omolov Suwg
10 &Bpoopa va elvar Grptfdg 10.

‘0 10=3+ E——l— 2—95 fitou elvar &Bpoiouax tIAV tetpaydvey, &V émolwv al

mAsvpal elvar dvtiotolxwg 3, —%—, —;-
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Ak v& &nopdyn & xA&opata mohllet #nt 30 xal Exn &vriotolywg 90, 24, 18
1
B¢ TAEUPAG TPLGV TETPAYDVOV  Kadl —16— 30=55 ¢ mAevpkv, &&v & 1plar TETP&-

yava elvat loa.

Mpémel Aowmdy, Aéyst & Awdpaviog, 1) mMAeupd Ek&otou 1AV LnToUpévVeV TETPAY®-
vav va kataoxevaodfi &k 1AV &pBudv 90, 24, 18 katx mpooéyywowv lon mpog 55.
Emeaidy 90=55+435, 24=55—31, 18=55—37, fjto. 55=90—35=24+31=18+437 kal

5 ., 35 __ 4 3t _ 3,37
.5.0._3__35__5--‘_-%_ 5 +30 xal elvan

(- 3+ (3 B+ (34 3=

npénet ol dedtepot Bpot Ek&otou TGV duwvinwy 100 . péloug v petaPinbdoly, @ote
1® &Bpolopa 1AV PIdV 1etpaydvev va elvan dxpipdg 10. Tpdg 1olto oxnuatifet
mv &Elowoy

(3—355)4- (% 431 x )'+ (—g— +37 x )’ =10.

Ex  ta0tng elvar x = 315% kal & Entodpeva tpla TeTPp&ywva elvat
6505 \*, [ 6440 \*, / 6425 \* _
3) +(z55) + (555) =0
II

Ek 1@V dvetépw mapadelypdtov 100 Awopaviov kol £x TG omoudlig TOAAGV
oUVaPRDV MEPITTAOOEWV oVVEYOoHeY T& &Efig ovumep&opaTa.

IIr1

Avvépeba mévtote va mpoodioplowpev teTp&ywvdv Tiva, (ote 16 Gvtlotpopov T00-
70U mpootBéuevov elg dobévia &xépaiov v KaBLOTE TOUTOV TETP&YWVOV.
YEotw & doBelg dképatog a kal & Intoluevog tetp&ywvog t2, dmdte B& elvan

o+ ‘:T =tetp&ywvog, (1). °Exk tadtng elvar at’+41=te1p&ywvos.
Tov tetphywvov toltov duvkueba va Béowupev =(14xt")? mov »*a.
A =(1—At)?, 8mov Aa.

*AguunTinov mapdderypo

@) T+ 4 =tetpbyovos, @) fi TeHl=tephyovoc=(1+20" & ict=—4  xal

2k 1ig (2 elvau 7—|—%= (171)’

B) 7t-H1=(1-3t)% 2 fig t=3 kal &k tfig (2 elvau 74+ — = % = (%)’-

©|~

II 2

AvvéueBa m&vtote v mpoodioplomuev tetphywvov Tva (t?), dote | map&otaog
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a
= T e

Ex tig (1) elvau
ant?4-1=te1p&ywvog, Eotw=(1-4xt)?, Emou

xan fi =(1—At)?, 8mnov Aan.

va glvar =tetp&ywvog, (1), (a doBelg &xépaxiog &pBudg kall n=2, 3, 4...).

‘ApudunTndv napdderypa

11
a) ?+—2;-t,—=tetpdycovoq. (@ f 55t+1=retphkywvog, Eotw = (14712

_ 17 - 11 9 _ 2104 _ (52
2 fic t= 3 Kkal &k g (2 slvan 5 +m-—]—2§5——(35).

B) 55t'4-1=tetp&ywvog, Eotw=(1—8t)?, € fig t= —192 kai &k 1 (@) elvan
1o 81 _ 14161 _ 119y
5 125256 6400  \ 80

II 3.

'E9’ Soov m&§ Gképaiog dpiBudg dvalVetar elg &Bpoloua tecodpwv, mEVTE,
EE ... v 1Eepaydvey, elvar duvatdv vk &vahuBfi xal el &Bpoiopax 4,5, 6...v
TETPAYDVWY, Kat& mpooéyylow lowv, Bk thic Zpappoyfig tiic HeBddov mpoosyyloewg
100 Alopavtov, &ol katxomiowuev 1dv doBivia &plBudv a TETp&ywvov DUVEUEL THg
oyéoswqg II 2.

*Aprduntinov magdderypno

N& &vahudf) 6 &piBudg 35 el &Bpolopa te00&pwV TETPAYOVOV KATX TMPOoty-
Yo lowv.

Katwax v oxéowv II 2 8& Exwuev —342 + =tetp&ywvog, (1). Exk tadtng elvan

1
16¢t2
140t*4-1=tetp&ywvog, Eotw=(1—12t)*, &€ fig t=6,

xal ¢k g (1) elva
_3§+ 1 5041 (11_)’
4 16.36~ 576 ~ \24/°

‘O 35 &vadetal elg &Bpolopa tecodpwv TETPaY®VQY, 1@V 12433433442 ’Ex 16V
1e00bpwv lowy Tetpaydvey, el t& énola {nreitan vé& &vahubf & 35, 16 mpidtov 8& ExXn
TAEUP&VY peyaAutépay Ti§ Hovéadog kai (3, Ekaotov B T@®V AOMGV TPV MPEMEL V&
elvar (3. "Htot §| mAeupd 100 MpdTou TeTpaydvou B& oxnuatiodf, &&v elg v povéda
mpootedfj k&, Zotw %, 1| MAsLPX 100 deutépou Kal Tpitou TETPAYDOVOL B& axnuatiodi,
tav &k 100 2 &oaupedii k&, Eotw A, xal ) MAeupd 100 TeT&pTOL TETPAYDVOL B& OXN-
natiodf, &&v &k 100 4 &Paipebfi k&t Eotw M, dMOTE B& EXwpev TAG OXEOELQ

L = =3 A=3—A=4—p.
’Ex 18V oXéocwv 1001wV AauB&vouev
a1 B
24’ 24’ 24

21
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*AM& téocapa teTpdywva loa, Ekaotov 1@V dmolwv v& Exn mAsLpdv A gxouv &-

24
71 \* 20164 4 © oy ;
Bpolopa 4. (54—) = W=35 576" 8mep elvan )35. A v elvon 1& {nrodupeva téo-

oapa TETPAYVA KaTd mpooéyyloy {ox, GAA& 10 &Bpotopu& 1wv va slvar &kpipddg Toov
npdg 35 éxpp&lopev TAG TMAEUPAS TOUTWYV, KAt TV uéBodov 1ol Awop&vrou, cuvap-
™oet Gyvdotov Tvog X Kal @V THEY &V %, A, U, Ondte 6& Eyxwuev

(14-47x)*+(3—x)*+(3—x)*+(4—25x)3=35, (2).
(Znu. ‘H &€lowoig Nddvato v& elvar «

47 ’ x \? x \? 25 L
( +§x)+(3—§4‘)+(2‘ﬁ)+(4‘ % x)=»
"Ex Tii¢ mapoAeipemg 1@V mapovopaxotdv 10 &notéAsoua d&v petaBoAAstal’ AcuBde
vovtat pubvov wikpbrepor &pibuol).

'Ex g () elvar x= 1‘51—?8 kal d' Gvuxataot&oewg sl v (2) AxpB&vousv

& {ntodueva 4 1eTp&ywva

4191 \? 4195 \? 4195 \? 4197 \?
( 1418 ) + 1418 +( 1418 ) +( 1aig ) =

SUMMARY

A few remarks on the method MMAPIZOTHTOZ AIFWIH of Diophan-
tus (Method of approximation to limits).

From studying the problems V 9, 11 of the Arithmetica of Diophan-
tus we conclude the following :

II 1.

We can always define a square t* so that the converse of that, when
additioned to a given whole number, to make that square.
Let a be the given whole number and t? the square we want to

find. Then a—+ ?1,— =square, (1). From this relation we have at’™+1=

square. We can write this square=(1-4=xt)’, with x*(a or=(1—2t)?, with A*)a.
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Examble
a) 7+ tl—,,'——square, (2), or 7t*-+1=square, let=(1-}2t)?, then

and from the (2) we have 7+ ng = (]Tl)n,

w,-h

t !
b) 7t'+1=(1—3t)?, then t=3 and from the (2) we have
1 /8
+5=(3).
11 2.

We can always define a square t?, so that the representation

1 s .
—2— +—E,-t;— to be a square number, (1}, {a is the given whole number and

n=2, 3,4 +..).
From the (1) we have ant*+1==square. Let it be =(1-xt)?, with
#*{an or=(1—At)?, with A*)an.

Examble

a) 15_1+ 2;':’ =square. (2) or 55t’+1=square.

Let it be=(1-+7t)?, then t= ~;~ and from the (2) we have

n, 9 _2704_(2)9
5 T25.49° 125 \35/.

b) s5t’-1=square, let it be =(7—8t)?, t= —156- and from (2)

we have

18 e _(11_9)'
5 T 25.25% 6400 \80/.
IT 3.

While every whole number is analysed to a sum of four, five, six,

., v squares, is also possible to be analysed to a sum of 4,5,6..,v

squares, appoximately equal, by the application of the method of appoxi-

mation of Diophantus, after we have made the given number a square
according to the relation II 2.
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Examble

To be analysed the number 35 in four approximately equal squares.
With respect to the II 2 we will have 24?- = TétT ==square, (1). From

this relation we have 14et’}+1=square, let it be=(r—1i2t)?, then t=6,
and from the (1) we have

Ttwn— — (7).
The number 35 is analysed to a sum of four squares that is of
1"-3'43"+4"
The number 35 must be analysed to a sum of four squares, each of
them has a side about equal to ;—:- The side of the first of the required

squares will be larger of 1 and smaller of 3, the side of other three squa-
res will be smaller of 3 i. e. if the 4 squares are equal we will have as
side of each of them the following

EZ =14-r=3=A=3—A=4—p.
From the above relations we have

_ & f e ok g = o
= M T o W T g

But four equal squares. each of them has as side %, havea sum

1 20]64 :
(;4) 5 =355% 576' thus >35. In order to be the required squares

approximately equal, with their sum exactly equal to 35, we express the
sides of them according to the method of Diophantus. Then we have

(1447x)*+(3—x)"+(3 —x)*+(4—25%)*=35, (2).
From this relation we find x= —f?l?_B and by substituting in the (2)

we take the required four squares

( 4191 )=+( 4195 ) 4195 ) 4197 \»__
1418 1418 1418 1418 ) =35
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